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ELEMENTARY COMPUTER APPLICATION
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Important Instructions
wEvarqut fder

Attempt all questions. Each question carries 1 mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.
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1.

Networks of network is called :
(A) Intranet

(B) VPM

(C) Internet

(D) Computer

The process of loading operating system

software into main memory is called :
(A) Instruction

(B) Source Code

(C) Booting

(D) Memory

Which was the first microprocessor created

by Intel Corporation ?
(A) 8008
(B) 8080
(C) 4004
(D) 8800

Which one is smallest computer ?
(A) Mini computer

(B) Supercomputer

(C) Mainframe computer

(D) Microcomputer

SLA-103

eeTh! T FeaTh HEC T :
(A) TTHE

(B) =i.di.wm.

(C) T2

(D) HFX

stRfen foen diveceR &1 & 76 4
e LA R Tohal 1 R had © 2

(A) Frdw

(B) 9 @I

(C) Ffem

(D) ==/

T HIIRYH gRT T Teen e
I o1 ?

(A) 8008

(B) 8080

(C) 4004

(D) 8800

To Bl HEHX A T ?
(A) ot g

(B) FR-HFIX

(C) ATHA FFIX

(D) HIEhI-FR
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S.

7.

8.

Program stored in ROM is called :
(A) Hardware
(B) Software
(C) Liveware

(D) Firmware

Which was the main component used in first
generation computers ?

(A) Transistor

(B) Vacuum Tube

(C) IC

(D) None of these

What is the full form of O.S.S. ?
(A) Open Software System
(B) Operating System Software
(C) Optical Sensor System

(D) None of these

Which one is temporary memory in
computer ?

(A) RAM

(B) ROM

(C) Pendrive

(D) CD-ROM
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U9 FERT | ©R FT 1 Hed © 2
(A) TEIR
(B) WA
(C) wgaa=
(D) HHIT

~

gom ME & wEEEl H g HEH
I o ?

(A) et

(B) S T

(C) 3T

(D) T | IS T

0.S.S. &1 el ®IH 1 et § 2
(A) 3T difea=R faen

(B) SATmfen faen Hiweer
(C) eiifewa TR fown

(D) T ¥ ®iE &

FrgR § TERG AOR wAE ¥ 2
(A) =
(B) W
(C) TS
(D) HEt-Im
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9.

10.

11.

The speed of computer processor is

measured in :
(A) Hertz
(B) BPS
(C) MIPS

(D) Kilobytes

How many bits are there in one IP address ?
(A) 32
(B) 64
(©) 16

D) 12

Which software is used to see Web-Page ?
(A) Site

(B) Host

(C) Browser

(D) Link

SLA-103

9.

10.

11.

FEIR F WA F TR R T §
Tt & 2

(A) &S

(B) ied

(C) THeTETiTH

(D) fepeirames

% . d. 13 # foran g e € 2
(A) 32
(B) 64
(C) 16

D) 12

-9 @M & A i drweser
g2

(A) W3

(B) B

(C) TS

(D) T
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12. What is the full form of SMS ? 12. TE.TA.TH. Fi Hel HE T8 ?

(A) Speed Mail Service (A) Tt Bt gfaa
(B) Short-hand Manual Service (B) Tie-Te Fgerer wlow
(C) Short Messaging Service (C) i Hafsm afem
(D) None of these (D) T4 ¥ IS &
13. Where the results of ALU is stored ? 13. T, 1 IR0 frad @R a2
(A) Accumulator (A) THERR H
(B) Register (B) =X #
(C) Heap (C) g9 H
(D) Stack (D) &%

14. The circuit which is used to store one bit 14. &% SIFE Gihe Bl & Tsreent 9 T fore

data is called : T F R FH & fou fHan smar g ?
(A) Encoder (A) TASIEX

(B) Decoder (B) SIdreX

(C) Register (C) e

(D) Flip-flop (D) frTa-wifa

SLA-103 (6) BI-3



15. Which one is Von Neumann architecture ? 15. fr=fafed & a7 =8 snfehes=n & :
(A) SISD (A) TE.TE.THEY.
(B) SIMD (B) TH.3ME.TH.EL.
(C) MIMD (C) TH.3TE.TH.EL.
(D) MISD (D) TH.3TE.TE.2L.
16. Cache memory works between : 16. 9 FEN foraes: 77w w3t § 2
(A) CPU and RAM (A) SLHg. T
(B) ROM and CPU (B) I\ T HLULY.
(C) RAM and ROM (C) WaIH
(D) None of these (D) T & HIE &l
17. How many bits are there in a byte ? 17. T e # o foe@ e € 2
(A) 8 (A) 8
(B) 16 (B) 16
(C) 32 (C) 32
D) 2 D) 2
18. Which address is generated by CPU ? 18. T4 R HTE TEH SRe fowar s
(A) Logical address 7
(B) Physical address Eg)) m E
(C) Real address (©) o 2
(D) None of these (D) STH | IS Tl

SLA-103 (7) BI-3 P.T.O.



19.

20.

21.

Which of the following circuits converts

binary data to a decimal ?
(A) Decoder

(B) Encoder

(C) Code Converter

(D) Multiplexer

The status bit is also called as :
(A) Unsigned bit

(B) Signed bit

(C) Flagbit

(D) None of these

Which of the topology is used in Ethernet ?
(A) Ring

(B) Bus

(C) Mesh

(D) Star

SLA-103
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19.

[ oo

T § R Giehe s 221 F

IBESINIEC|

[al

ST H aged § 2
(A) St

(B) TThIE

(C) &HIE FHX

(D) AR

20. wH foe i I8 Wt FHEr S E

(A) sTEES foe
(B) drEE foe
(C) W fae

(D) 374 9 HIE &

21. T2 H I SdErs w1 YA B ® ?

A) far
(B) ==
(C) 5w

(D) ¥R
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22,

23.

24.

Which one is equal to 4 bits ?
(A) Byte

(B) Nibble

(C) Record

(D) All of these

Which of the following is the brain of
computer ?
(A) ALU
(B) CPU
(C) RAM

(D) Control Unit

The decimal equivalent of binary number

0.01111s:
(A) 4.375
(B) 0.5375
(C) 0.4375

(D) —0.4375

SLA-103

22,

23.

24.

4 foreq & TR A T ?
(A) e

(B) frssa

(C) T=rre

(D) = 9t

o oo

Aferd # | HFR 1 Afkash 7Y Fe

0.0111 aMET T=R fhdg SHHA T=R &
W T ?

(A) 4.375

(B) 0.5375

(C) 0.4375

(D) —0.4375
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25. Convert the binary number 10101 into

26.

217.

decimal number :
A) 21
B) 12
(C) 22

(D) 31

Which one is Universal Logical Gate ?
(A) OR

(B) AND

(C) NAND

(D) EX-OR

Logical gates required to built up a half

adder circuit are :

(A) EOR gate and NOR gate
(B) EOR gate and OR gate
(C) EOR gate and AND gate

(D) ENOR gate and NAND gate

SLA-103

(10)

25. 90 TR 10101 1 SHHA TR H

26.

27.

Rfery
A) 21
B) 12
(C) 22

(D) 31

frefafen 3 ¥ afeda afsswa T2 Fi
%2

(A) OR

(B) AND

(C) NAND

(D) EX-OR

TH T Wfhe aH & fau wH-wFd
[SUEEISRICEIC CRRE TR

(A) EOR gate 3TR NOR gate

(B) EOR gate 3T OR gate

(C) EOR gate 3R AND gate

(D) ENOR gate 3R NAND gate
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28.

29.

30.

31.

What is logical gate ?
(A) Software

(B) Circuit

(C) CD

(D) Game

Which one is an example of Identity law ?
(A) at0=0+a=a

B) 1+ta=a+1=1

(C) ab = ba

D) a+tb+tc)y=(@+b)+c

Which one is 16 base number system ?
(A) Binary

(B) Hexadecimal

(C) Decimal

(D) Octal

Which one is ones complement of binary

number 1010 ?
(A) 0101
(B) 1010
(C) o110

(D) 1110

SLA-103
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28.

29.

30.

31.

AlfSrhet T2 F1 T ?
(A) FrFEaX

(B) @fhe

(C) H.E

(D) ™

frafafea # 9 o smeef=e fram =
SR 7 ?

(A) at0=0+a=a

B) 1+ta=a+1=1

(C) ab = ba

D) a+tb+tc)y=(a@+b)+c

frfafea 8 9 16 99 =R faeq FiF
g2

(A) =TETd

(B) THATSHHA

(C) SHma

) REIEE]

o o

fefafed § @ S =) 1010 1 a9

o

FHIFATHE T ® ?

(A) 0101
(B) 1010
(C) 0110
(D) 1110
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32.

33.

34.

Which one is 4th GL (Fourth Generation
Languages) ?

(A) FORTRAN

(B) COBOL

(C) SQL

(D) C++

In which generation, time sharing, real time

operation system used ?
(A) 1stGL
(B) 3rd GL
(C) 4th GL

(D) 5th GL

Which of the following is not an operating
system ?

(A) UNIX

(B) MS-DOS

(C) PASCAL

(D) CP/M

SLA-103
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32.

33.

34.

frefafem & & et <iel digh i o
%72

(A) BRgH

(B) el

(C) TE-F.T

(D) C++

frfafem § ®Fe SReA & i
s H 2red Yo 9 doe 2y g e
T ?

(A) worm dit

(B) et it

(C) =heft el

(D) witerelt il

frafafea § @ S T st fawn
T ?
(A) I
(B) THIE-TMH
(C) wEHT
(D) .4t/
BI-3



35. Unix Operating System : 35. i srmfen faen .

(A) canrun on PC’s and large system (A) T, 9 98 foed R W & 9l §
(B) is amultitasking (B) T HoSIEnT §
(C) is a multiuser (C) T AR
(D) All of these (D) & |t
36. Which of the following is not application 36. Tr=Afafed # SHE Th Teisy™ e
software ? T ?
(A) Windows NT INBEEER G
(B) MS-Word (B) THTH-IE
(C) Photoshop (C) i
(D) Excel (D) T

37. Which command is used to see the version 37. e faey o1 asiH e'q & fau SE

of operating system ? FHIS HH | foram s ¥ ?
(A) Vol (A) Vol

(B) Version (B) Version

(C) Ver (C) Ver

(D) None of these (D) T & HTE &l

SLA-103 (13) BI-3 P.T.O.



38. Which one of the following is not a

multitasking operating system ?

(A) DOS

(B) Windows

(C) UNIX

(D) LINUX

39. In Windows, start button is used to :

(A) run application

(B) device setting

(C) turn off the system

(D) All of these

40. The BIOS resides in :

(A) RAM

(B) ROM

(C) Hard Disk

(D) Cache Memory

SLA-103
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38.

39.

40.

frafafea & & @AW TF AR
srRfen fawen & & 2

(A) DOS

(B) Windows

(C) UNIX

(D) LINUX

faes § Wi a2 &1 yan fva & &
fow fam S § 2

(A) T Tefieher &g

(B) feareq & &g

(C) faem =1 38 & 7

(D) 3 |eft

BIOS foed wa ¢ ?
(A)

(B) I

(C) = fe=

(D) w31 BERY
BI-3



41.

42.

43.

What is the type of Windows Software ?
(A) CUI

(B) MUI

(C) LUI

(D) GUI

In Windows the screen background is
known as :

(A) Application

(B) Window

(C) Desktop

(D) None of these

To minimize all windows in windows
operating system which option is used ?
(A) Windows key

(B) Windows + Break

(C) Windows +D

(D) Windows + M

SLA-103
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41.

42.

43.

fameiet Wigea=R forden THR & ?
(A) ©1.7.3TE.
(B) TH..STE.
(C) T 3T

(D) ft.7.3TE.

famerst § ©hid & SHURUE i fohg 90 ¥

S ST g ?
(A) TR
(B) favsi
(C) S&hera

(D) 379 9 HIE &

foe smfen fawa § wft fode =
TS 3 & fau s ifee w8 8§
femn ST € 2

INRESIEED

(B) o= + 3=

(C) T + €t

(D) foerst + T

BI-3 P.T.O.



44. In Windows Operating System to cut an

45.

46.

item which shortcut is used ?
(A) Cul+V
B) Cul+X
(C) Cul+C

(D) Ctrl+D

In Windows Operating System Ctrl + Z is
used for :

(A) Undo

(B) Paste

(C) Delete

(D) Move

Which Windows version supports 64 bits
processor ?

(A) Windows 98

(B) Windows 2000

(C) Windows XP

(D) Windows 95

SLA-103
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44, fae srqfen fawq # fod) smEeq =

45.

46.

e HTA T I IMEHE BAA T ?
(A) Ctrl+V
B) Ctrl+X
(C) Ctrl +C

(D) Ctrl+D

faee sitmfén fam § Cul + Z &1 w&@m
fergfo g e 2

(A) T

(B) T=

(C) feafte

(D) =

foEst 1 ®FE a5 64 foed THE H
T FIA T ?

(A) faer 98

(B) fasst 2000

(ORESERGCHA

(D) fa<= 95

BI-3



47.

48.

49.

50.

Who uses HTTP ?
(A) Workbook
(B) Server

(C) Webpage

(D) Backbone

Which protocol is used by WWW ?
(A) FTP

(B) HTTP

(C) WBC

(D) MTP

Where is the recycle bin option is available ?
(A) Desktop

(B) Hard-drive

(C) Shortcut menu

(D) Properties

How many KB’s are there in 1 MB ?
(A) 1000 KB
(B) 1020 KB
(C) 1024 KB

(D) 1124 KB

SLA-103
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47. TSI &1 YN i w2
(A) THIF
(B) &R
(C) =
(D) s

WWW & gRI ®HEl Wersid Jan fean
ST ?

(A) TR

(B) w=rrd

(C) s=esiE!

(D) Tt

48.

framsfera fom sifwm wef T S e ?
(A) SRl

49.

(B) ®rE-grA
(C) widshe #g
(D) Wt

50. 1 TSt § foha wheilsl 81 § ?
(A) 1000 KB
(B) 1020 KB
(C) 1024 KB
(D) 1124 KB

BI-3 P.T.O.



51. What is the maximum storage in E-mail ? 51. -9 # ifeehan @R fram e § 2
(A) 25 MB (A) 25 MB
(B) 30GB (B) 30GB
(C) 15MB (C) 15MB
(D) 15GB (D) 15GB
52. Which E-mail address is correct ? 52. T-H&T HI i @’H T E ?
(A) name(@website(@info (A) name(@website(@info
(B) name(@website.in (B) name(@website.in
(C) www.nameofwebsite.com (C) www.nameofwebsite.com
(D) name.website.com (D) name.website.com
53. Where the BCC is used in ? 53. .5 ¥ 1 TANT Fal Rl ST ® 2
(A) Search Engine (A) gd g~ |
(B) Web Browser (B) J9-MSSR H
(C) E-mail (C) -7 H
(D) HLL (D) TA.TA.TS. H
54. Which one is used to read HTML Code ? 54, TA.IA.TH.TA. &€ & Tgd & fau A
(A) Web server S A S S 2
(B) Web browser (A) & TR
(B) o9 TSR
(C) Web matrix (C) = Bz
(D) C language (D) ©t ot

SLA-103 (18) BI-3



55. Website address is known as : 55, JeETES & USH i F1 FHel WA © 2

(A) URL (A) 7.3R.TE
(B) ULR (B) 7T
(C) RUL (C) #ARF.TE
(D) URR (D) .3TRR.

56. Google is an example of : 56. TS Teh ST |
(A) Search Engine (A) T g5 T
(B) Web Browser (B) A9 =SSR &l
(C) EPSON (C) TT8F
(D) Social Network (D) TRTeT Heas

57. How many types of heading are there in 57. TA.A. AT AT R TR B a0 E ?
HTML ?

(A) 3
(A) 3

B) 4
®B) 4
© s (C) 5
(D) 6 D) o

58. Which tag is used for line break in HTML ? 58. TE.3.TH.U. T 59 9k & foq HITET

(A) <break> ST H A S ¥ ?
B) <br> (A) <break>
(B) <br>
(€) <hr> (C) <hr>
(D) <tr> D) <tr>

SLA-103 (19) BI-3 P.T.O.



59. Which tag is used for numbered list in

60.

61.

HTML ?

(A) <ul>

(B) <ol>

(€) <dI>

(D) <list>

Which HTML code is used for checkbox ?

(A) <checkbox>

(B) <check>

(C) <input type = “check’™

(D) <input type = “checkbox’>

HTML is subset of :

(A) SGMD

(B) SGML

(C) SGMH

(D) None of these

SLA-103
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59, TA.ATA.TE. § T=E fae & fau swma

60.

T IYERT § WA S § 2
(A) <ul>
(B) <ol>
(©) <di>

(D) <list>

T.3.TH.TE. H S % o FE e
S # e S 2

(A) <checkbox>

(B) <check>

(C) <input type = “check™>

(D) <input type = “checkbox’>

61. TI.A.TH.TA. TF GoHe ¢ ¢

(A) SGMD

(B) SGML

(C) SGMH

(D) T ¥ & &
BI-3



62.

63.

64.

6S.

What is Internet Explorer ?
(A) Search Engine

(B) Browser

(C) Database

(D) None of these

What is the address size of IPv6 ?
(A) 128 bits

(B) 64 bits

(C) 32bits

(D) 265 bits

How many layers are there in OSI model ?
(A) 5
(B) 6
©) 7

D) 8

How many topologies are there in LAN ?
A) 1
B) 2
© 3

(D) 4

SLA-103
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62.

63.

64.

6S.

ST TR 71 ©§ 7
(A) T g5

(B) SIS

(C) S

(D) T ¥ *E &l

[Pv6 1 TZH i HIZS fehal eIl § ?
(A) 128 forzd
(B) 64 faem
(C) 32 faem
(D) 265 faem

3. 0Y.3E. died | forat R Bt § 2
(A) 5
B) 6
©) 7

D) 8

@ (LAN) ¥ feret St gt & 2
A) 1
B) 2
©) 3
(D) 4

BI-3 P.T.O.



66. The Long Haul Network is also known as : 66. T TS 42T fhTh] Fad © 2

(A) LAN (A) LAN
(B) MAN (B) MAN
(C) WAN (C) WAN
(D) ZAN (D) ZAN

67. What is Ethernet ? 67. SAERFMT ?
(A) LAN (A) B
(B) MAN (B) =
(C) WAN (C) a9
(D) Computer (D) HTHR

68. Which topology of LAN uses circuit 68. M WI HIAEr et diehe feafem =

switching ? YA HIA T ?
(A) Ring (A) R

(B) Tree (B) @I

(C) Star (C) ®|R

(D) None of these (D) T8 A FIE Tl

69. Which topology cannot be used in LAN ? 69. I IS TF H YR el e St ?

(A) Star (A) VR
(B) Ring B) fa
(C) Bus (C) ==
(D) None of these (D) T8 A FIE Tl

SLA-103 (22) BI-3



70.

71.

72.

73.

What is IEEE 802.5 ?
(A) Token bus

(B) Ethernet

(C) Token Ring

(D) VDT

Which item is not used in LAN ?
(A) Computer

(B) Modem

(C) Printer

(D) Cable

Which topology uses hub ?
(A) Mesh

(B) Star

(C) Bus

(D) Ring

The speed of Ethernet is :
(A) 64 KBPS
(B) 64 MBPS
(C) 10 KBPS

(D) 10 MBPS

SLA-103
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70.

71.

72.

73.

IEEE 802591 T ?
(A) A 99

(B) gorIe

(C) =

(D) st

S ITE1 TgeH OF § ST e g ?
(A) FFEX

(B) Tfew

(©) U=

(D)

! ST 7 &9 1 T B S ?
(A) Fe
(B) ¥R
(C) =8

(D) &

$oRAe i wite fRat Bt ® 2
(A) 64 sheldiTa
(B) 64 THSTE
(C) 10 weldTd
(D) 10 THeTHITH
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74.

75.

76.

77.

Router works on which OSI Layer ?
(A) Transport

(B) Network

(C) Presentation

(D) Session

Which hub is used to send packet ?
(A) Smart

(B) Switching

(C) Routing

(D) Porting

What is a Modem ?
(A) Software

(B) Hardware

(C) Both (A) and (B)

(D) None of these

Amazon is a type of which e-Commerce ?
(A) B2B
(B) B2C
(C) G2B

(D) G2C

SLA-103

74, TSH SALTH.3TME. Hl DA R | FHE

FIA T ?
(A) grEde
(B) e
(C) TS=¥M
(D) ¥

75. ford 59 1 99T Yehe 91 & fau g ?

(A) =
(B) fef=r
(C) Tt
(D) T

76. HIEHFNT ?

77.

(A) FIFRAR
(B) oM
(C) (A) 3R (B) i
(D) T ¥ ®iE &

3T fohd YR #1 3-FA9E © 2
(A) sr2st
(B) w2t
(C) St2sft
(D) S
BI-3



78.

79.

80.

What is the full form of COD in

e-Commerce context ?

(A) Cash on delivery

(B) Cash on demand

(C) Commerce on delivery

(D) Cart on delivery

Which of the following is not suitable for a

B2C transaction ?

(A) Clothes

(B) Flowers

(C) Airline Reservation

(D) None of these

Which among the following is an example

of C2C ?
(A) e-Bay
(B) amazon.com

(C) rentalic.com

(D) All of these

SLA-103
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78, wrd  geod § WA w7 we v

79.

80.

FNEY ?

(A) 91 3 feaftert
(B) %1 &7 femms
(C) =g 317 feattadt
(D) e 3 featiad

ST TSR H HIAE 7S SUGH Tl © 2
(A) wTE

(B) &«

(C) TS STRTST SARETT

(D) 374 9 FIE &

frfafea & 9 EH H1 ST S
T2

(A) -9

(B) STHSIA.SMA

(C) Ferfarsh. s

(D) = 9t
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81. World Wide Web (WWW) was introduced 81. IS TS I (T T, T ) hiH W
in the year : T A T ?
(A) 1994 (A) 1994
(B) 1996 (B) 1996
(C) 1992 (C) 1992
(D) 1990 (D) 1990
82. UPI stands for : 82. J.I.3TE. I HSA FIH AT ?
(A) Union Payment Interface (A) IMHEA T8 TeThd
(B) Unified Payment Interface (B) IMFEE THe T=Xhd
(C) Unique Payment Interface (C) I e s=Thy
(D) Universal Payment Interface (D) JFHaga THe T=Ihd
83. What is the full form of EFT ? 83. T.UW.ZL. 1 RS WIH FMAA T ?
(A) Electronic Fast Transaction (A) SIS RS S
(B) Easy Fast Transaction (B) TSI HRE ISR
(C) Electronic Fund Transfer (C) SoERIH® U AW
(D) Easy Fund Transfer (D) STt HUE AW

SLA-103 (26) BI-3



84. What is the full form of CVN in 84. 3-FME H W.A.TH. FT R HIH 1 Sl

e-Commerce ? 772

(A) Card Verification Number (A) FIE ARTRHIF TR
(B) Commerce Verified Number (B) wid aRwEE TR
(C) Consumer Verified Number (C) T~ IRNFES TR
(D) None of these (D) T8 9§ 1S el

85. Which e-Commerce technology is used by 85. IS GNI S-hHH I HITH! SIS T

YouTube ? ERIUAERIES

(A) CPV (A) .4

(B) CTC (B) .2

(C) CIR (C) ©i.3t.emR.

(D) None of these (D) T4 9 IS &

86. In which card digital information is printed ? 86. fefsea g fore #1€ W siferd St T 2

(A) Smart card (A) TR HE

(B) Debit card (B) Efoe #1E

(C) Credit card (C) Hfee =1

(D) None of these (D) T & H1E &l
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87. The online banking is :

88.

89.

90.

(A) Electronic
(B) Automatic
(C) Economic

(D) Google

How many digits are used in credit card
number ?

A) 13

B) 14

(©) 15

(D) 16

An internet service that allows the user to
move a file :

(A) FTP

(B) Telnet

(C) UseNet

(D) Time Sharing

What is the full form of CGI ?

(A) Computer Gateway Interface

(B) Common Gateway Interface

(C) Computer Gateway Interconnection

(D) Common Gateway Interconnection

SLA-103
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87.

88.

89.

90.

fere dfeT T
(A) TR
(B) serafes
(C) TR
(D) T

hfee HIS TR fohae STari FT B T 2
A) 13
B) 14
©) 15

D) 16

TF SeE T S STETE @ R wEe
1 TG A H SR S E

(A) Twd

(B) ZeTie

(C) e

(D) 2| TR

TSt 3. ot et wH Fn Y ?

(A) FHR T2 THH
(B) iH f12d seThd
(C) FR Ted THART

(D) T 2T THIRM

BI-3
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91. Which one of the following is online 91. fr=fafed & & sifTeme ¥ HEw T ?

payment 7 (A) T
lipk:
(A) Flipkart ®)
(B) Paytm
© Gl (C) Siaa
(D) a9 ARSR

(D) Web browser

92. Which is the model in e-Commerce, if seller 92. 3-d H Il HiSd %, 3T forghan 31X

and buyer are both business firms ? TRIGER SHI AT gS wH § ?
(A) C2B (A) drs
(B) B2C (B) =2t
(C) B2B (C) st
(D) C2C (D) w2

93. What is the purpose of OLX Website ? 93, TATHT JTHEE HT S FNF ?
(A) Uploading files (A) HTES STIEIE HEAT
(B) Buying and selling products (B) ST T TRIGAT SR 9=
(C) Searching documents (C) THIES SIS
(D) Recovering files (D) ®TES I YT BT
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94. MAN is a group of : 94, THAUUA fhEsI QI B e ?
(A) WAN (A) ST
(B) LAN (B) Tewwd
(C) BAN (C) siwed
(D) None of these (D) T & HIE &l
95. DNS stands for : 95, EI.UA.TH. I BA BH FNE ?
(A) Detail Name Server (A) Eea 79 TR
(B) Domain Name System (B) ™A 79 fa=n
(C) Dynamic Network Service (C) ST Yeaeh gfad
(D) All of these (D) 3 |eft
96. Which is not a country domain ? 96. freffe # ¥ ®FE w2 SEA &
(A) uk 27
®) ok (A) .uk
(B) .pk
C) tv ©) v
(D) in (D) .n
97. In Unix, which system call creates new 97. 1?-1% 4 sqw f9=m &d uw T
process ? T SA@ § 2
(A) Create (A) Create
(B) Fork (B) Fork
(C) New (C) New
(D) None of these (D) T & HIE &l
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98. The M in HTML stands for :
(A) Markup
(B) Machine
(C) Modeling

(D) Margin

99. The first page of a website is called :

(A) Home page
(B) Design page
(C) Front page

(D) Main page

100. What is the correct syntax of the following

code ?

(A) Body : Color = black

(B) {body : Color : black}

(C) {body : Color = black < body}

(D) Body {Color : Black}

SLA-103
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98.

99.

AT BT S §
(A) HAHRTT

(B) #¥A

(C) wrefem

(D) =

forelt off JaEEe & 98l U ! AT el
S ¥ 2

(A) BTE IS

(B) fesmed o=

(C) We T

(D) o9 O

100. Fr=faAfed e =1 9E ale A § ?

(A) Body : Color = black

(B) {body : Color : black}

(C) {body : Color = black < body}

(D) Body {Color : Black}
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